
%$6,&＋67$1'$5'問題
次の不定積分を求めよ。１
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次の不定積分を求めよ。２
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S
�
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�WDQ[ FRV[ G[

不定積分�' VLQ �[FRV[G[�を求めよ。５
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��[ �

��[ �
G[
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[H
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�[ � �
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��� �[ �[ � G[　　　　���　'
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次の不定積分を求めよ。８
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��[ � G[　　　　　　　　　　　���　'
�
�[
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次の不定積分を求めよ。９

���　'
�VLQ [G[　　　　　　　　　　　��　������　'

�FRV [ �VLQ [G[

次の定積分を求めよ。10

���　'��
�

( �� �[ G[　　　　　　　　　　　����　' �
� G[

( �� �[

次の定積分を求めよ。11
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� G[

�� �[
　　　　　��　　　　　　�����　'��
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＊　定積分�' �
�

( �� ([ G[�を求めよ．12

実戦問題
次の不定積分を求めよ。13

���　'
[
�FRV [

G[　　　　　　　　　　　　　���　'
�[ VLQ[G[

次の定積分を求めよ。14

　　' �
�

( ��[ �[ G[

不定積分�'
�[ �

[ �
� 
�[ �

G[�を求めよ。15

W [�( ��[ � �と置換して，'
�

( ��[ �
G[�を�求めよ。16

[���で定義された関数�\ [H � �[H �の逆関数を�\ I � 
[ �とするとき，' �
�

I � 
[ G[�を求め17

よ。
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　[�と�K�の対応は右の表のようになる。
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